BEHKEAHEF M
B o 3% 72

- e 10
it W Sl 1 2!



El&% £ % memo

R i

(-) HAxiH
PHESERFPEEE AL FE2Z F L S Poims AT
BBt A AL o A g B KE G R
)5 -

(=) BERFwRY
RO R BB R R o g L RS oRah A TN R
BLETLLH B RF o i ’4@ FATIB S L ok
A) R REF A LR F R o

(z) EVEFBRY

PR S B BRI B E R AR AT E LA
PhingeE o BT B AR FOR A TN S A TR S

@?Iﬁ E 38 YA

o

- o
g - AF

1.5 1%F & 2 1.3

2CARESFKEFY R 1252

”ﬁ@ "B
BEAER Y e 3. *

% ) £

P% Eﬂ'-" ‘%E )‘}pmﬁ@‘gﬁ’f;’fr 15\_‘_’}?{§ru‘|a
2.%?}3 BB 2L Ao 2%@%@:%‘3 L& s 2.3t Hh ke b

%E’é
%
ZJL"J-

(s 4 [ 44 Do 4
',":T 1o —i’—\l%]’g 'i:?'%fb

1% 2%F LEED
D3 E ALY H

1y P24 ik 47
2L H B N R
?)'l '(mi'l}?% fff

3.E EPA B E B

21

= 4%
3FE: H ~ R F R 3aE: H A KE K 3F RMAS B KRS L



s EH L (£2YR)

LRE A LEp
AEEF AL £ 8§ ek

BrxxFHwmEi -

[(JE~x 3 ¥
(JHE ~zrh F LH

(e xEAmy By (&

N

-

e

Jus
[(J2RE~AFYH (FEYH L

R

METTS

- PHTEAEGE THEAPAR LE NTREREE Y L

BEygs A TAREAEYH 278

S~ RAE AP AT E N L o

~ A H ,b%lﬁ:?{gm’gzo

I

e~ AEARFITLER & o

I-q
/

AEAESFAEYFLEAL o

~le
/é—‘ L yn- ©

B




CA Futs i
20180812

EeA R LA

H~ i #pgdan

FLER

Bl & QP AL ER? AL R PRI Y LR
R 2 it ?

BT Fr B AR AP URT S EET e A #r
BHEGEE BB £ R EEE 0

%mﬁﬁg@%i&%*—%ﬁ%*@ﬁﬁﬁ’ﬁ*’“Wﬁ%ﬁ*%
;;%w%amﬁﬁﬁ’xﬁ{a’ﬁmﬁﬁw%%m%¢@~?
? G E
. u P

B T
¥ Y P N P BRI F K s AP A 2

BolHP .

R ‘“‘fr'lg-ﬁr'l? T j\?’(é‘f B

LR R £

EFF Y

31@@%5’@§*’
FPELOEE > RFL AR

LR T AL

)\J—“p’a‘v’i?
(1) 5 : 4@ > 2 5 ABCD &% >35> A &L } » DE
LL BF LL» &% A% % E~F( AE#AF )

# . ANADE= ABAF -

v

(2) #w4et- B> = #35 ABCD % v i#7) AEFG #
G A

.D'.—;’Iljo

<z : DE = BG -
F \E



4/ PP P 2R A PR T G BP0 BT U HE

EN £

(1)2 5 : AABC ¥ » /BAC & T 5 R BCL* D gk o
42 :AB: AC=DB: DC
PR A sk RSB G HM TR
785 skt AB:AC=EB:EC 2 27 114 4pl e 25§ 9

F LG W e ?

A A
B B -
D C c
(2)2 vt AABC ¥ »D 2AB¥ 2. E 5 AC *° % - y
4 : ()DE//BC » (2) DE = = BC
AT LA T AR SR B i et , i
G R o do % OB AR T B 0 A PR
T LG AR L9 B ©
A D
EQF
B C

(3)% 4 : 4+ B > ¥3, ABCD ® » AD//BC>E~F
A w5 AB ~ CDhP BL o
43 : AD//EF//BC » * EF =~ (AD + BC) -
P AEfeQ)EAR P AE A AR R o R R FRAEY P 2 HQ)F B kA
N -,‘,275 VU BT - ,I‘!'g‘l

RS 2 R RS RIED

Z_enfgE e 9



Ji

T

cLd

o3
A
Joie

LI

B REERAMA R

XX - e s
SEFEY TG LA o

2

Bz BRRETHRT 5

ey AT R
(VR ?ﬁ'ﬁ:“_—v s A ,
3 AN T]/éa l% ¢

&




I ~BE &S
L4585
X 1%? @ YouTube % 3§ # & #7& B » £ i& » New Horizon of Mathematics

ﬁ%%%éaT&%Ho
(1)&%@&. Fr--CA-- 2 R EWH KA Y 20171114 (&7 3 BR7)
PART1
(2)#E 372 B --CA 3 #c8--20161206 AFE R P 4 & %3aI@EM PART 1
Q)#E 71 R --CA ##HKE--20161206 A FFF T 4 # %3aILEP PART 2
()88 372 K --CA H#c 5 20161206 ALF R P (E L F fawpp
) BB 71 K --CA--= &5 SHHITEFEP HFKEFAY 20171120 (4 ¢ 7 =
EY)
2EFE AP oL  MAF EORERRBEF wINA AT AE -
3B E L Rp LB E O KE IR -

A BYH R AT EE A B R 4 E s KkH



CA Hufs il

20180812
A L
18w RS o B EfoUl 4 e o

B DAL | S | A EicE Y (i e |
Wi LB ?

s 170 4 | $ 12404 F KR EAP k4R

WS 70 A m e Q|
(R T o dg I S B 9

2.9 % (8 o o] RS S o

N e & O

SR G REAR S

W LV AR RIS B R T

(14E45F 10 ) A A famend R 4 ) é,_gfﬁ;@q o8 9

Q)] N EAFIRAEIE s A G e

D

QGMEWEZ EAF S | R > 47 1HE ] A AERA PR

3PN T e E B AR d T OTD R

(1) % 38 3 4x+3

AL G 2xt3 o

(2)7 A23% 3xF1=6 LiF ¥ £ 2L » I l:bﬁﬁ?'fl}z;’n Ev i@
x+1=2

(3)F15 3x-1>6 ¥ 12 # 1] 3x>6 > Flg > & 55 3x-1>6 o 3x>6 1 ¢ § 4R e

fE o
(4)2x10° & B HcF F_f #co

O)z BEFEIAS5-6-8en= £, 8 4k = 4750

(6)(2x+3)> =4x>+9 (7)4x*-9=(2x-3)(2x-3)

(8)2+3=5



438 F W5
(1); S a>b y 1) a2>b2 ‘::‘H; ?

Q) 4ox & BT LB I AR 7R A3 S B § 2 i ol ?

f
() Arx B #HT LB B Ik 7NAGxH2)? B &K €
e 9

LR S RS

@O a&r o " ag 342 Rla g Lin gl L gor ?

5.3 M ¢ partl
(De w2 sz 4m=FL 5 7 -brcbrcit B> H° ciad

E o

R ¢ (c+b)E49 chF e -

Q) 7w :ia~b3=E FHce
R ab i Ao

6.3 11 > % {rdp i
()4 » AB=AC-CD LAB > #H#F{I* = 43,2574 1 § {-CD-
& DS > TP AR ® FaZd o

B

(ke B AB =AC 32 ¥ 1% = £ 2,2 847 % 4 ¢ {oCE- & chat gl
TP AR E IR o

B




()M RE=CE - BE=DE - jf# 1% 2 £ 2 %2 [ o § 4-CD-
R DARE > TP Ap E T o

D

B
(4)4cFl > v 875 ABCD % = 37 ABFG % 5 1% ) » 332117 = £
i‘:ilé“?féﬂigfrDG— BE AR TEP ARSI o

(5)4cR > 2 FA, ABCD 2 & 2 2)» G ¥ 1% 2 £ 22 P FH N €4
AADE}_Em £75 5 T >EquRd o

Q L

A E

D
(6)4c® - = 4, ABCD % & = 2)» G F 1% = £ 25 p i g4
AADE #p v enz &35 » i’.‘;\,p@ B enI@d o

C
B B
D C
E
A : A\V

\

A E




(6)4c > FEFA B DB 1% = 695 AA P0IBT > % 2 § *AABC
IRz £ BE G AFEE AR REF DI AL |

A A A A
/\ /\ /\ /\
B C B c B C B Cc

7.3 F* 3 part2

(1)¢ %0 : AABC ¥ » /BAC ih& T A REBCL* D% -
F% :AB: AC=DB: DC
For LI T ERAIE S AR A

A

B

D C
(2)¢ v : AABC ® » /BAC ih¢h & T 2 21 BC it £ 02 3t E 8k o
F#% :AB: AC=EB: EC
For LAl T ERAIS PNz £ o

A
B E
C
(3)¢ & :AABC ¥ D 2AB® 8- E 5 AC 7 g - A
4+ : (WDE//BC > (2) DE = 5 BC
S ERIORE S T FERE y -

Q)F1* tp = & 25




- A
(4)e & 4r+ B > %3, ABCD ®* » AD//BC »E~F
~ | 5 AB ~ CD#h¥ B o E/D\F
#3 : AD//EF//BC » 2 BF = 2 (AD + BC) -

#or (D) fir‘%fikg § T 5
(2)F1* Ap i = & 25

(5)- Wit * 2 RiTH %4 ZAPB ﬁ”ﬁai/’a\fﬁﬂﬁj’gjﬁ‘
FHP TR NITR T U LAPQ= ZBPQ -
BA P 2Bz 8

6)+- B * 2 RiTE F AR5 A #CD - R

C
B ioHE ch T ¥ 2R AE = BEX CD L AB o
#or LI 2E = A
E
A B




BRI F IR

,@ﬁ%
s

.com

ofmathematics

HFHHREE

http://tw.newhorizon





